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QUESTION 1

Which authentication protocol for remote authentication of users is supported by the IBM Storwize V7000 model 5247
A. Lightweight Extensible Authentication Protocol (LEAP)

B. Secure Socket Layer (SSL)

C. Lightweight Directory Access Protocol (LDAP)

D. Challenge Handshake Authentication Protocol (CHAP)

Correct Answer: C

You can use the command-line interface (CLI) to configure the Storwize V7000 to authenticate users against servers
implementing the Lightweight Directory Access Protocol (LDAP), including IBM Tivoli Directory Server (ITDS) and Active

Directory (AD).

References:http://www.ibm.com/support/knowledgecenter/ST3FR7_6.4.1/com.ibm.storwize
.v7000.641.doc/svc_remoteauthentcliLDAP_08070948.html

QUESTION 2

What is the minimum of connections that an IBM Storwize node canister should have to a host according to best
practices?

A4
B.1
C.2
D.6
Correct Answer: C

The system contains a Storwize V7000 storage system. Each Storwize V7000 single processing unit is a node canister,
which is also called a node. The two nodes within their canisters make an 1/O group that is attached to the SAN fabric.

Each Storwize V7000 control enclosure requires two Ethernet cables to connect it to an Ethernet switch or hub. One
cable connects to port 1 of the left node canister, and the other cable connects to port 1 of the right node canister. A
10/100/1000 Mb Ethernet connection is required for each cable. Both Internet Protocol Version 4 (IPv4) and Internet
ProtocolVersion 6 (IPv6) are supported.

Note: For increased redundancy, an optional second Ethernet connection is supported for each Storwize V7000 node
canister.

References:http://www.ibm.com/support/knowledgecenter/ST3FR7_7.7.0/com.ibm.storwize
.v7000.770.doc/svc_portsandconnect_gen2.html

QUESTION 3
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Which IBM Storwize Family product possesses the following control enclosure base feature?
-Memory: standard 16 GB memory system total
-HIC slot (different options are possible)

-Standard 10/100/1000 megabits per second (Mbps) Ethernet ports for iISCSI

Two 2-core, 2 thread processor
A.

IBM Storwize V5010

B.

IBM Storwize V5020

C.

IBM Storwize V3700

D.

IBM Storwize V5030

Correct Answer: D

QUESTION 4

Comprestimator output shows capacity savings from Real-time Compression and which other factor?

A. Thin provisioning

B. Data archiving

C. Drive consolidation

D. Data deduplication

Correct Answer: A

In the output of theComprestimator, the Total Savings is presented as a break-down of thin-provisioning savings and
compression savings. This helps in future planning tasks; when the volume stores more data than it does today , thin-
provisioning savings get lower, but compression savings are expected to stay the same if new data written to the
volume is of the same nature as the data stored in the volume today.

References:https://www.ibm.com/support/knowledgecenter/ST3FR7_7.2.0/com.ibm.storwiz
€.v7000.720.learning/comprestimator_script.html
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A customer has a requirement for highly available data in their IBM Storwize environment and currently uses IBM
Spectrum Virtualize Software V7.5. The process to enable a volume to be addressed by two 1/O groups simultaneously
is challenging.

How can the customer benefit from upgrading to V7.6 of the software?

A. HyperSwap GUI support

B. Two I/O groups supported by two nodes

C. Remote mirroring cluster support

D. Stretch cluster wizard

Correct Answer: A

New functionalities in the Version 7.6 release of SpectrumVirtualize include: HyperSwap GUI support: Current local
HyperSwap is functionally complete, but requires complex configuration through the existing command-line interface.
This new release of HyperSwap offers a new command-line interface which greatly simplifies the set up process to a

handful of commands, and also adds the ability to configure and manage local HyperSwap through the GUI.

References:http://www-01.ibm.com/common/ssi/cgi- bin/ssialias?
subtype=caandinfotype=anandappname=iSourceandsupplier=897andletternum=ENUS 215-391
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